(ng-TEQ/mN) (ng-TEQ/9) (ng-TEQ/9)

(kg/h) | (%)
1 150 1.1 0.75 |H13.7.26 [H13.9.5 80 0.0039 |H13.7.26 |H13.9.5
2 1130 12 0.076 |H13.9.26 [H13.11.26 80 0.0019 |H13.9.27 [H13.11.26
3 176] 1.8 0.73 [H13.6.21 [H13.7.26 80 0.00000046 |H13.6.21 |H13.7.26 0.087 [H13.6.21 [H13.7.26
4 140 3.1 6.0 |H13.6.20 |[H13.7.26 80 0.0072 |H13.6.21 |H13.7.26 0.080 |H13.6.21 |H13.7.26
5 750 2.1 15 [H13.10.16 [H13.11.27 80 0.24 |H13.10.16 [H13.11.27 2.2 |H13.10.16 |H13.11.27
6 570 7.9 | 0.00039 [H13.7.12 [H13.8.27 80 0.035 |H13.7.13 [H13.8.27 2.2 |H13.5.31 |H13.7.16
7 1300 36 13 [H13.4.9  [H13.4.27 80 1.9 [H13.9.27 [H13.11.12 13 [H13.9.27 [H13.11.12
8 190] 4.0 2.0 |H13.9.7 [H13.10.24 80 0.0012 |H13.9.10 [H13.10.24 2.7 |H13.9.7  |H13.10.24
9 149 1.9 0.25 |[H13.2.19 [H13.4.4 5 0.0077 |H13.2.20 |H13.4.4 0.69 [H13.2.20 [H13.4.4
10 199] 1.8 11 [H13.10.6 |[H13.11.30 80 1.1 [H13.10.6 |[H13.11.30 5.1 |H13.10.7 |H13.11.30
11 390 3.7 38 [H13.11.29 [H14.1.30 80 4.5 |H13.11.29 [H14.1.30 6.5 |H13.11.29 [H14.1.30
12 180] 3.8 0.90 [H13.4.3  [H13.5.15 80 0.078 |H13.4.3  |H13.5.9
13 170] 1.8 17 [H13.4.4  [H13.5.15 80 0.065 |[H13.4.4  [H13.5.9 0.011 [H13.4.4 |H13.5.9
14 1050 0.00097 [H13.7.26 |H13.11.5 80 0.0016 |H13.7.26 |H13.11.5
15 196 1.9 1.6 [H13.2.12 [H13.3.30 80 1.2 [H13.11.5 [H14.1.29 3.0 |H13.11.5 |H14.1.29
16 70 1.3 3.8 |H12.12.12 [H13.3.30 80 0.46 |H12.12.12 [H13.3.30 0.16 |H12.12.12 |H13.3.30
17 50 1.3 4.7 |H13.5.10 [H13.7.15 80 0.33 |H13.5.11 |H13.7.15 1.2 [H13.5.11 [H13.7.15
18 183 3.3 2.2 |H13.7.27 [H13.9.5 80 0.36 |H12.7.27 [H13.9.5 0.52 |H13.7.27 |H13.9.5
19 600 10 10 [H13.5.31 [H13.7.2 80 4.6 |H13.5.31 [H13.6.20 6.7 |H13.5.31 |H13.6.20
20 63 0.9 0.32 |H13.9.20 [H13.11.5 80 0.012 |H13.9.21 [H13.11.5 2.0 [H13.9.21 |[H13.11.5
21 195 1.6 21 [H13.8.24 |[H13.10.2 80 0.0051 |H13.8.24 |H13.10.2 5.1 |H13.8.24 |H13.10.2
22 115 2.0 0.064 [H13.11.6 [H13.12.19 80 0.016 [H13.11.6 [H13.12.19 0.062 |H13.11.6 |H13.12.19
23 1300 2.9 12 [H13.8.31 [H13.10.2 80 1.9 [H13.9.1 [H13.10.2 2.9 |H13.8.31 [H13.10.2
24 562 11 1.9 [H13.5.12 [H13.6.6 80
25 70 2.0 6.6 |H13.5.2 |H13.6.5 80
26 150] 3.3 3.7 |H13.10.17 [H13.11.27 80 0.0067 |H13.10.17 |H13.11.27 22 [H13.10.17 [H13.11.27
27 300 0.0013 |H13.7.17 [H13.8.23 80 0.00042 |H13.7.17 |H13.8.23
28 250 3.9 |H13.7.16 [H13.8.23 80 0.25 |H13.7.16 |H13.8.23 0.14 |H13.7.16 [H13.8.23
29 190 1.9 2.5 |H13.10.19 [H13.11.27 80 0.018 [H13.10.19 [H13.11.27
30 1000] 5.6 17 [H13.4.19 [H13.5.31 80 5.2 |H13.4.19 [H13.5.31 6.9 |H13.4.19 [H13.5.31
31 1 1875 10 0.040 |H13.8.3  [H13.9.14 80 0.0000045 [H13.8.3  [H13.9.14
32 @ 1875 10 | 0.000096 |H13.7.30 [H13.9.14 80 0.000025 [H13.7.30 |H13.9.14
33 100] 3.9 80
34 130 1.9 4.6 |H13.9.14 [H13.10.30 80 0.0051 |H13.9.14 |H13.10.30 7.9 |H13.9.14 |H13.10.30
35 2083] 6.4
36 531 12 1.6 [H13.6.11 [H13.8.17 80 0.040 [H13.3.21 [H13.5.1 0.026 |H13.3.21 [H13.5.1
37 1 6250 0.000016 |H13.6.19 [H13.9.7 80 0.000065 [H13.6.19 [H13.9.7 1.4 [H13.6.20 [H13.9.7 12,3
38 @ 6250 0.000022 [H13.6.18 [H13.9.7 80 0.000066 [H13.6.18 [H13.9.7
39 [€ 6250 7.0 [H13.6.15 [H13.9.7 80 0.000061 [H13.6.15 [H13.9.7
40 100 1.2 1.5 [H13.11.10 [H14.1.28 80 0.0039 |H13.11.10 |H14.1.28 0.36 |H13.11.10 |H14.1.28
41 180] 1.8
42 170 2.5 11 [H13.11.6 [H14.1.16 80 0.016 |H13.11.6 |H14.1.16
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